A Y S TR
101 & # B2 AL 3142 4 5 24
CEERTT R
ALEySABLI IO T) (25

FWICE

e

I

b

7l

)



A AL 10 Ao KL 5 A 0 £ 504 e £ 4

1. Which molecule has a zero dipole moment?

A) CO,, B) SO,, C) CO, D) H,0, E) CH,Cl,

2. Which has the highest basicity?
A) F, B) OCHjs; ™, C) NH, , D) CH3;CH, E) Br

3. What is the right name of this compound? (__)-3-hexene
A) E-, B) Z-, C) cis-, D) trans-, E) none

CH3CH2\ /CHQCHg
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4. Determine the R or S for the following compound;
A) 2S,3S B) 2S5,3R C)2R,3S D) 2R,3R E) none
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5. Which has the obvious broad peak in the UV-Vis spectrum?
A) Bezene, B) CH3;0H, C) CH,; D) HBr, E) CO,,

6. What is the product of this reaction?
"
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7. What reagent(s) can be used to distinguish the following compounds?

O
orte
A) AgNO3/ CH3CH,0H, B) concd. H,SO,4, C) NaCl/H,0O, D) Os/N;, E) OsO,

8. Which is antiaromatic?

2o O ¢
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9. Predict the material from the following FT-IR spectrum;
A) CH;COCH,0H, B) CH3;COH, C) CH3;CH,Br, D)CH3;OCHj3
E) CH;COCHG3
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(Spectrum obtained from: SDBSWeb: http://www.aist.go.jp/RIODB/SDBS)/

10. The best nucleophile in a substitution reaction at a primary carbon.
A) CH;CO,, B) OH', C) H,0, D) (CHs)3;CO’, E) Br.
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Finish the following reactions:

1. BH3, THF/ H,0,, NaOH, H,O

Doy —

2. 03/ Zn, H30+

@—CHQ, —_—

3. Hg(OAC)z, HZO/ NaBH,

4. What is the product after these reactions?

O +
C—C—C—C PBrs; Mg v H3O
| _ —> ——> —>
OH ether

5. Poly(3-hexylthiophene) (P3HT) is one of the most used materials in the
organic solar cell, please finish the synthesis processes of this compound.
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